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  39 : 3 = (30 : 3) + (9 : 3) = 10 + 3 = 13
30 9
55 : 5 = (50 : 5) + (5 : 5) = 10 + 1 = 11
28 : 2 = 10 + 4 = 14
84 : 4 = (80 : 4) + (4 : 4) = 20 + 1 = 21
  122 : 2 = (120 : 2) + (2 : 2) = 60 + 1 = 61
120 2
168 : 4 = (160 : 4) + (8 : 4) = 40 + 2 = 42
186 : 6 = (180 : 6) + (6 : 6) = 30 + 1 = 31
153 : 3 = (150 : 3) + (3 : 3) = 50 + 1 = 51
248 : 8 = (240 : 8) + (8 : 8) = 30 + 1 = 31
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  45 : 3 = (30 : 3) + (15 : 3) = 10 + 5 = 15
30 15  
75 : 5 = (50 : 5) + (25 : 5) = 10 + 5 = 15
38 : 2 = (20 : 2) + (18 : 2) = 10 + 9 = 19
56 : 4 = (40 : 4) + (16 : 4 ) = 10 + 4 = 14
108 : 9 = (90 : 9) + (18 : 9 ) = 10 + 2 = 12
65 : 5 = (50 : 5) + (15 : 5) = 10 + 3 = 13
96 : 8 = (80 : 8) + (16 : 8) = 10 + 2 = 12
90 : 6 = (60 : 6) + (30 : 6 ) = 10 + 5 = 15
104 : 4 = (80 : 4) + (24 : 4) = 20 + 6 = 26
84 : 7 = (70 : 7) + (14 : 7) = 10 + 2 = 12
64 : 4 = (40 : 4 ) + (24 : 4) = 10 + 6 = 16
78 : 3 = (60 : 3) + (18 : 3) = 20 + 6 = 26
72 : 6 = (60 : 6) + (12 : 6) = 10 + 2 = 12
120 : 8 = (80 : 8) + (40 : 8) = 10 + 5 = 15
135 : 9 = (90 : 9) + (45 : 9) = 10 + 5 = 15
